
Classical Mechanics
Principle of Energy

( Uniform Field )

Particle

aA = aA∫
aA ·dr A =

∫
aA ·dr A∫

aA ·dr A = ∆ 1
2v2

A∫
aA ·dr A = ∆ aA · r A

∆ 1
2v2

A = ∆ aA · r A

∆ 1
2v2

A −∆ aA · r A = 0

mA

(
∆ 1

2v2
A −∆ aA · r A

)
= 0



Classical Mechanics
Principle of Energy

( Uniform Field )

Biparticle

aAB = aAB∫
aAB ·dr AB =

∫
aAB ·dr AB∫

aAB ·dr AB = ∆ 1
2v2

AB∫
aAB ·dr AB = ∆ aAB · r AB

∆ 1
2v2

AB = ∆ aAB · r AB

∆ 1
2v2

AB −∆ aAB · r AB = 0

mAB

(
∆ 1

2v2
AB −∆ aAB · r AB

)
= 0


